ROGUE

ECHO ROWER

FOOT ASSEMBLY 1 -2

Rogue Fitness e 545 E 5th Ave. Columbus, Ohio 43201 e Customer Service: 614-358-6190 ¢ Team@RogueFitness.com



ROGUE

ECHO ROWER
PARTS LIST

Diagram # | Part # Description

37 IPO917-37 ST4.2 x 19mm Self Tapping Screw
83 IPO917-83 1/4-20 x 12mm Torx Head Screw
87 IPO917-87 M4 x 10mm Socket Head Screw Foot Strap Bracket
88 IPO917-88 Foot Strap Rivet

89 IPO917-89 Foot Strap Bracket

90 IPO917-90 Pedal Right Bottom

91 IP0917-91 Pedal Fixing Plate

92 IPO917-92 M4 x 10mm Cross Head Screw

93 IPO917-143 |Flex Footslide

94 IPO917-94 Pedal Right Upper

97 IPO917-97 Mating Bolt - Foot Strap Assembly
98 IP0917-98 Strap Buckle

99 IPO917-144 | Replacement Strap

FOOT ASSEMBLY 1 -3



